A Pentair Company

Swing-Out Rack Mounting Frame
Chassis d’Accessoires rackable de montage pivotant
Armazén del Estante de montajes del giratorio

Hoffman Enclosures Inc.
2100 Hoffman Way
Anoka, MN 55303-1745
(763) 422-2211
www.hoffmanonline.com

Pentair Electronic Packaging
170 Commerce Drive
Warwick, Rl 02886

(401) 732-3770
www.pentair-ep.com

Mexico

Hoffman Enclosures Mexico

Federico T. de la Chica No. 8 Piso 4 A
Circuito Comercial Plaza Satélite
Ciudad Satélite,

Naucalpan, México C.P. 53100
011-52-55-5393-8263

Canada

Hoffman-Schroff

111 Grangeway Avenue, Suite 504
Scarborough, Ontario M1H 3E9
(416) 289-2770

1-800-668-2500 (Canada only)

Germany

Schroff GmbH

Langenalber Str. 96-100

75334 Straubenhardt

49 (07082) 794-0 www.schroff.de

Great Britain

Schroff UK Ltd.

Maylands Avenue

Hemel Hempstead, Herts HP2 7DE
44 (01442) 240471 www.schroff.co.uk

Sweden

Schroff Scandinavia AB

Box 2003

12821 Skarpnack

46 08683 61 00 www.schroff.se

France

Schroff Sas

Z.l., 4 rue du Marais

67660 Betschdorf

33 03 88 90 64 90 www.schroff.fr

Italy

Schroff srl

Viale Milano, 119

21013 Gallarate (Varese)
39 0331 79 40 03

Singapore

Hoffman-Schroff Pte. Ltd.
#01-68/71 German Centre
25 International Business Park
Singapore 609916

65 5 62-78 90

Japan

Schroff KK.

Nisso No. 13 Bldg. 4F
2-5-1 Shinyokohama
Kohoku-Ku, Yokohama shi
Kanagawa 222-0033

81 (045) 476-02 81

Finland

Schroff Scandinavia AB
Perasimentie 8

03100 Nummela

358 09 222 68 00

Norway

Schroff Scandinavia AB
Bjoernerudveien 24
1266 Oslo

47 022 76 33 60

Rev. B 116188

Install bottom support assembly (item 3) into enclosure. Insert clamping nuts (item 4)
into bottom channel, and attach using 5/16-18x1 hex head screws, lockwashers, and
flat washers (items 6,7, and 8) with spacers (item 5) between mounts and bottom
mounting channels. Spacers can be moved from side to side to align swing frame; all
spacers may not be required.

Place plastic washer (item 9) over pin on bottom support. Position swing frame (item 1)
onto pin, and place top support (item 2) onto swing frame. Attach top support to top
mounting channels using clamping nuts, spacers, 5/16 screws, lockwashers, and
flatwashers (items 4,5,6,7, and 8). Adjust frame to desired depth in enclosure.

NOTE: If swing frame is to be heavily loaded, all spacers should be put on the pivot side
at bottom and the latch side at top.

Installer rassemblée d’Appui de fond (point 3) dans le boitier. Insérer les Ecrous de
blocage (le point 4) dans la Gouttiere de fond, et attachent en utilisant les vis hexagonal
5/16-18x1, les freins d’écrou, et les rondelles (points 6.7, et 8) avec Espaceurs (point 5)
entre les batis et les Manches De Support de fond. Des Espaceurs peuvent étre
déplacés de I'un c6té a I'autre pour aligner le Chéssis pivotant ; tous les Espaceurs ne
peuvent étre exigés.

Placer la rondelle plastique (goupille finie de point 9) sur I'Appui de fond. Chassis
pivotant de situation (point 1) sur la goupille, et Appui supérieur d’endroit (point 2) sur le
Chassis pivotant. Attacher I'’Appui supérieur aux Manches De Support supérieures en
utilisant des Ecrous de blocage, des Espaceurs, 5/16 de vis, des freins d’écrou, et des
flatwashers (points 4.5.6.7, et 8). Ajuster le chassis sur la profondeur désirée dans le
boitier.

Instalar el ensamble de la ayuda de la tierra (articulo 3) en caja. Insertar las Tuercas
Que afianza Con abrazadera (el articulo 4) en la caneleta de la tierra, y une con los
tornillos hexagonales 5/16-18x1, las arandelas de cierre, y las arandelas planas
(articulos 6.7, y 8) con los Espaciadores (articulo 5) entre los montajes y los Canales del
Montaje de la tierra. Los Espaciadores se pueden mover desde lado al lado para alinear
el giratorio; todos los Espaciadores no pueden ser requeridos.

Colocar a arandela de plastico (broche excesiva del articulo 9) en ayuda de la tierra.
Giratorio de la posicién (articulo 1) sobre la broche, y ayuda superior del lugar (articulo
2) sobre el giratorio. Unir la ayuda superior a los Canales del Montaje superiores
usando las Tuercas Que afianza Con abrazadera, los Espaciadores, 5/16 de los
tornillos, las arandelas de cierre, y los flatwashers (articulos 4.5.6.7, y 8). Ajustar el
armazon a profundidad deseado en caja.

© 2006 Hoffman Enclosures Inc.

Hoffman

s
|
17}

(1%)
(8x) (6x)
5/16 5/16
(8x) (8x)
5/16-18x1
(8x) (1x)

P/N 99401687

87569077


http://www.hoffmanonline.com
http://www.pentair-ep.com
http://www.schroff.de
http://www.schroff.co.uk
http://www.schroff.se
http://www.schroff.fr


<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /ENU (Use these settings to create PDF documents with higher image resolution for improved printing quality. The PDF documents can be opened with Acrobat and Reader 5.0 and later.)
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


